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Question Number : 1 Question Id : 6589883618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Which of the following was the first planet in the solar system to be vistied by
a Spacecraft ?

=

Fefeiad & 3 ®F 98 9gaT U8 8 599 W IaRe a9 ugcll 9R ggar o7 ?

Options :
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Question Number : 2 Question Id : 6589883619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

The first effective vaccine against polio was prepared by :
UIferdl &1 Ugell UHTdl Uiowrel Sial fhae g1 faeiida fhar 1ar o 7
Options :

]. H. Gibbon
1. Vo Tao g

Jonas E Salk
, Y o WD

Robert Edwards
5 VfaE TsasH

James Simpson
o R

4.

Question Number : 3 Question Id : 6589883620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Which of the following disease is not transmitted by Aedes acgypti ?
fe=feiad § | ®FE-4 9N Ufew ure! 8N Fel Badl 2
Options :

Chikungunva

EEENIEEI

1
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Dengue
5> S

Chicken-pox

3 BIc] =il

Yellow fever

4111?17&1?

Question Number : 4 Question Id : 6589883621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

The period of the business cycle in which real GDP is increasing is called the:
IR Teh DI 98 M o4 Sile Slo Mo ¥ gig 211 2, &I Haawl & ¢

Options :

Exp ansion
1.

peak

2 I¥TER

Recession

5, Gl

Stagflation

4L§aﬂnﬁfﬁmﬁﬁﬁé’r

Question Number : 5 Question Id : 6589883622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
With regressive tax system, as income :
U AR X UUTTell § ofd 39 ¢
Options :
Increases the tax rate remains the same
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Decreases, the tax rate decrease

’ Hedl 2 d &Y & 2% "Ucdl 2

Increases, the tax rate increase

Bm—cﬁ%a‘raﬁﬂ%’rmaﬂfﬂ%

Increases, the tax rate decrease

4 aadl g O] &% @l g% °cdl ©

Question Number : 6 Question Id : 6589883623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which one of the following is a useful biological indicator of Sulphur - dioxide
pollution ?

AP SHAATRATZE UguUl &1 SUgdd Giide Yoo FEafafad s g &= 28 7

Options :
Bryophytes
, FHATHIEE

Algal booms
, TS

Pseudomonas
EISTHMN

3.

Lichens

4r1"'c¢mm

Question Number : 7 Question Id : 6589883624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the title of the autobiography of Major Dhyanchand ?
HOX &IIgs @1 Sia-l @ JE @he) FEfeiad § 9 &9 8 °
Options :

Goal
. T

collegedunia:

India’s largest Student Review Platform



Hockey Days
o, BIPISH

Hockey-My Life
5 BIDOI-ATE gD

Me & My Hockey
4 I TS 1S BD)

Question Number : 8 Question Id : 6589883625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Oxygen liberated during photosynthesis comes from :
ST T Y WA A € A SR P W S # 7

Options :
Carbon dioxide
1 chle gfg&lllrﬁfﬂgﬁ_]

Break down of Chlorophyll
- FANIThel @ fadsd ¥

Atmosphere

, TS a9

Question Number : 9 Question Id : 6589883626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Biodiversity is highest in

w9 fafauar war waifts st 8 ?

Options :
Tundra zone
, T

Prairie zone

o> U &
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'Iemp erate zone

3, SRR &

Trupic zone

4 Zsiﬂlrﬁlaf] %ﬂ'ﬂ ﬂﬁ

Question Number : 10 Question Id : 6589883627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who was the first Indian in independent India to have won a medal in an
individual Olympic event ?

a3 NG 61 a8 U8l Aidd B9 o1 fords JAciius | AfdaTd Wl d 9gd widl
ofr 7

Options :

Dhyanchand
eHd =

K. D. Jadhav
> @0 Slo WTEd

Prithvipal Singh
gedioTe e

Harishchandra Birajdar

i BRIg= [AgR

Question Number : 11 Question Id : 6589883628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which team has won the Women's Cricket Asia Cup Trophy (Twenty-20
Tournament) held in Malaysia in June 2018 ?

fFa €M 5 5, 2018 § HoIlram § g2 Afgen fbdbe TRM@T U ufaanfiar (€9=<1-20
g | fawa ure @1 < ?

Options :

Bangladeszh

[ ]
gcollegedumaa
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Thailand
3I o ‘t;‘ b T

India

CIEG]
4.

Question Number : 12 Question Id : 6589883629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The word libro’ is used in which of the following sports ?
Ffafad 4 9 fog 9a 9 e ug gdfed 2 7
Options :
Basketball
y SRbeArd

Volleyball
» dlciarel

Handball

Softball

Question Number : 13 Question Id : 6589883630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Acid present in gastric juice is:
ATAER 9§ $E-91 3+ IURYd 861 2 ?
Options :
Hydrochloric Acid
| BIESIaRING 3%

Citric Acid

5 Ii”il;rﬁ A+
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Sulphuric Acid
- qq.-:“fq:li"fﬁ ¥t

Acetic Acid
4 T -

Question Number : 14 Question Id : 6589883631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Which of the following iz the main ingredient of cement ?
Options :
Limestone

| T TR

Silica Clay

5 I%Ii‘ﬂﬂil ?ff;f (ﬁq_éﬂ

Gypsum

B

Ash

-41._{]-;J:LI

Question Number : 15 Question Id : 6589883632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The lens used in a simple microscope is :
HERY Year (ATgshiv ™) § fhy ofg &1 T4 8idl & ¢

Options :
Concave
) Adda

Convex
S W el

Cylindrical
o FeT
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None of the three
4 TFTH 9 ®Ig A8l

Question Number : 16 Question Id : 6589883633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When economists refer to "tight” monetary policy, they mean that the Reserve
bank of India is taking actions that will :
o SR G Hifad il @l FEl BRd & o 98 3 o 2 b AR Red
Options :

Increases the demand for money

Decreases the demand for money

Expand the supply of money

Contract the supply of money

, T @RI 1 Hew &

Question Number : 17 Question Id : 6589883634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

OTCEl is:
OTCEI ®T & ?

Options :
Automatic Stabilisation Programme

, Taferd ReRIHeoT Sy

An Indian Share Market

Economic Policy of US

3 go Y¥Ho To CARCHDCAC I
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Organization of Trade, Customs and Economic Cooperation

R, WH Yoo Td AT 7T HiTo

4

Question Number : 18 Question Id : 6589883635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

From where the pole star is not visible ?
gd a1 ®el ¥ fours "8 gsdr g ?

Options :
Tropic of Cancer
Fh &1

Equator
HHET Nl

North Pole
ST g4

South Pole

SI&T ga

Question Number : 19 Question Id : 6589883636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following can monitor air pollution ?

Feferfiad 3 | & arg 9guv @1 IR B Hebal 2 7

Options :
Fungi

CnqQoh

3

Algae

2‘5’15!?!

Bacteria

Lichen
4 P :
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Question Number : 20 Question Id : 6589883637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a secondary air pollutant ?
Options :

Ozone

AT

Question Number : 21 Question Id : 6589883638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which of the following city Elephant festival is celebrated annually- ?
fa=forRaa 4 9 foog wrex 3 2l ST afte w9 9 991 & 8 7
Options :

Jaipur

Jodhpur

Ajmer

4,
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Question Number : 22 Question Id : 6589883639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following states in India has the lowest and the highest sex ratio
respectively ?
qRd H Aferiiad ool § 9 foad O U paeE _YAdH 3R Hfewad 8 7

Options :
Haryana and Kerala

1. Ei;\n][”il 6‘.{:]? "}‘iqfi;l

Kashmir and Puducherry

> HIAN 3N gIfvST

Sikkim and Kerala
o RGEEL: &ﬂ_\’ fﬁk NS

I—Iaryana and Puducherr}'
4 BRAUT AR USR]

Question Number : 23 Question Id : 6589883640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rumtek Monastery is located in which state ?
YHC® Ao fhg o § Reg 2 7
Options :
Arunachal Pradesh

i FAHUTHIS U9

Himachal Pradezh

Jammu and Kashmir
W5 Ud HIHR

Sikkim

4 TR H

Question Number : 24 Question Id : 6589883641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

Where was the famous educational center Vikramshila situated ?
uftg Pren o= fawaien o8 W Rerd o ?
Options :

Bihar

Karmataka
2. ii Cd

Kashmir

3PF.F?fﬂ'~!

Guyarat

Question Number : 25 Question Id : 6589883642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The International Kite festival in Gujarat is held in the month of :
TORTd § B grell ‘SN U6 oad fid #2819 H J91 I g 7
Options :

January

J C %
S

March
qrd

August
i_j-i L I q; !

November

i Ja+N

Question Number : 26 Question Id : 6589883643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Minister of State for Culture and Environment, Mahesh Sharma recently
inaugurated 'Azaadi -Ke-Diwane' museum in which city ? '
G¥hfd Ud UaiaRe] ey HA H429 v A g 4 @ {9 uEN § e & g
HaETed &1 Iguicd fhar ?
Options :

Mumbai

Fa

j, BR

Amritsar

g e

New Delhi

L s o

3 1% I1GCT

Panipat

p THTa

Question Number : 27 Question Id : 6589883644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following received Jnanpeeth Award, 2018 ?

f=feriad 4 9 f&9 2018 &1 Fdle N fHar or ?
Options :
Krishan Sodhi

T HIEN

Shankar Ghosh

Amitav Ghose

ifadra =9

Kedarnath Singh
e 48

Question Number : 28 Question Id : 6589883645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

collegedunia:

India’s largest Student Review Platform




Which nation's lawmakers have approved a new law that will allow them to
punish online media outlets for publishing fake news ?
frd <o & fafe fFErame 5 2ar & 3 U F91 S iR fRar € § 9 g
HIfear ¥9g W e YHER U1 &= & Refa 3§ gfea & &1 ffeadr a1 2 2
Options : _

India

Russia

B.W

Pakistan

4 T

Question Number : 29 Question Id : 6589883646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When was the Tanaushadhi Diwas' celebrated across India ?
U ARG H b fafer @1 wH-sieiE S & w9 § e o v
Options :

6 March

6 Hr

7 March
7 9

8 March
8 A

9 March
9 HT

Question Number : 30 Question Id : 6589883647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Kummanam Rajasekharan recently resigned as the Governor of which State ?
HHFH CPERA 9 Bl 2l 4 g /o @ YU & w9 3 T U fear 7

Options :
Mizoram

HIRTH

Assam
IEH

Meghalaya
HETA

West Bengal
i gf¥=H €7

Section Id :

Section Number :

Section type :

Mandatory or Optional:
Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:

Sub-Section Id:

Question Shuffling Allowed :

sec II Data & Reasoning

65898837
2

Online
Mandatory
26

26

90

Yes

No

|
65898844
Yes

Question Number : 31 Question Id : 6589883648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

'Steel’ is related to 'Allojc' in the same way as 'Zinc 'is related to :

el o9 ave g ¥ ddftd 2 S Tve oar 9 gefed g

Options :
Non- metal

, TI-Eg
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Halogen

E‘E”G!'I

Alloy
fHsEmg

Metal
i 8

Question Number : 32 Question Id : 6589883649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How many pairs of letters are there in the Word ' CONFUSED' which have as
many letters betwween them as in the English alphabet ?

32 'CONFUSED' H 3Rl & fbaq o 2 oo 9= § 3 9uEer & &9 H
I ER B 7

Options :
One

i, %

Two
o &l

Three

3, T

Four
4 N

Question Number : 33 Question Id : 6589883650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If in a certain code language TPL' is written as 'S$1256144', then how will 'BUT’
be written in that language ?

afe ga FAf¥=a o 9w H 'TPL' @1 '81256144' for@r &ran g, a1 99 9 4§ 'BUT'

Options :

| 4441400
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> 4444100

- 4100444

4 4144400

Question Number : 34 Question Id : 6589883651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Arrange the following words in a logical sequence :
frferRad 9] @1 diithd 9 H afeerd &Y :

(a) Application (b) Selection
(c) Exam (d) Interview
N IET HIETeh Y
(e) Advertizement
fasra=
Options :
1 a,b,c,e d

e,acdb
2.

e,c,a db
=

d, e a,b,c
4.

Question Number : 35 Question Id : 6589883652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a class of 45 students, a boy is ranked 20th. When two bovs joined, his rank
was dropped by one. What is his new rank from theend ?

45 BT B e H U sl 20d WIF W €| Od 3 dAsd AN A §Y, o IHDI
V& Uh $H (dropped) BT T2 | SHS! 73 Vb iR 4§ #7127

Options :
25th
25d]

[ ]
gcollegedumas
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26th
26d]

27th
74T

28th
284f

Question Number : 36 Question Id : 6589883653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the following Venn diagram, which of the following represents the
educated men but not urban ?
frforfad 99 NG (Venn diagram) H =ferfad § @ #H frféa goui &1

Urban 8“& . — Government employees
TN la TREHT HHAR]
12 6 /13
: —> Men
11 14 JEH)
/ 5 \V) Educated
: S
Options :
9
1.
5
2
4
2%
11
4,

Question Number : 37 Question Id : 6589883654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

collegedunia:

India’s largest Student Review Platform



Raghu and Babu are twins. Babu's sister is Reema. Reema's husband is Rajan.
Raghu's mother is Lakshmi. Lakshmi's husband is Rajesh. How is Rajesh

related to Rajan ?

VY 3R 919 Jedi €| 919 @ g8 9 8 | qH &7 ufe | 2| g B AT A 2
A BT Ufd IS 2 | O BT AT H R/ G 2 7

Options :

Uncle

ClE]

Son-in-law

Father- in-law

3 NG

Couszin
TN TS /a8

Question Number : 38 Question Id : 6589883655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

There are six members in a family. A is the father of D, E is the grandfather of
D. B is the daughter-in-law of C. F is the uncle of D. What iz the relationship of

CwithF?

Uh IRARHBE e EI A DS U@ 8 E D@ S=1 21 B,C &%l 98 €1 F, D &
gren 8 ) CHI FH &1 Gay 8 7

Options :

oister

Mother- in- law
Bl

Mother
=

Data inadequate

4. STCT AT e

Question Number : 39 Question Id : 6589883656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

At what time between 5 and 6 are the hands of a clock coincident ?

53R 6 @ 4 59 94 T3] & gsdl o W Br0 7

Options :
22 min past 5
1 5 gudy 22 f39e

30 min past 5
> 5 FudR 30 [HE

Lt
11

22 — min past 5

TR 22—
1

1

3
27— min past >
T i

3

5 godr 27 — 39¢

11

i

Question Number : 40 Question Id : 6589883657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

On which dates of April, 2012 will a sunday come ?

e, 2012 &1 fope ard@t 3 Waaw smee ?

Options :

1 2,12, 19, 26

3.

Question Number : 41 Question Id : 6589883658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Kunal travels 10 m from his shop and turns to his left. After that he turns to
right from the crossing. After moving certain yards, he turns to left and again
turns to left after moving some distance. Finally, he turns to right. If at final
position he is facing North direction, then which direction he was facing while
coming out of his shop ?

HUME YA G 10 Fo @1 IS T 2 AR JUH 4 AR Jedl 21 9D 918
9 IR ¥ TN gl 21 B ol do- © 95, 98 913 IR gedl 2 3R P gi
g @ d1g fY 9 912 3N JedT 21 3d ¥ 92 I8 IR gear 21 3fe sifas Rafa H
g 9N foun @1 3R 2, d1 98 U g 9 9re} ATd §HY by 3 @ 3R o ?

Options :

South

cféror

Question Number : 42 Question Id : 6589883659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A, B, C, D, E and F are standing in a circular space facing the centre. A and C
are together and also E and B are together. B is standing to the lett of F. There
are two persons between D and E. A and E are not together. If we move anti -
clockwise from F to E, then how many persons are there between F and E ?

A, B,C,D, E3RF Uk PR ¥IH TR &= &l 3R T 8| A 3R C P 9 &
IREIRBA @ AAZIB,FHIEINRTSI I DIRE & dra g1 &Afdad €1 A
AR E U WY el 2| afc 84 F 9 E d@ aHgd 9gAd &, o F 3R E & 19 fdhaq
fed & 7

Options :

1

1

NN
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Question Number : 43 Question Id : 6589883660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Six faces of a block have been painted with green, blue, white, yellow, black
and pink. Two positions of this block is given below. If the black colour be at
top. Then which colour will be at the bottom ?

Wﬁwwmﬁﬁﬁwﬁmmwmwﬁwmn%w
& & o Refadl A U 710 21 Ife &re 37 999 SUR 8, d a9 A1d DIiH-91

T BRI 7 _
' ﬁ

Sub-Section Number: 2
Sub-Section Id: 65898845
Question Shuffling Allowed : Yes

Question Id : 6589883661 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes
Question Numbers : (44 to 46)
Question Label . Comprehension
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An organization consists of 4300 employees working in different departments viz. A,

-

B, C, D and E. The ratio of male to female employees in the organization is 5 : 3
respectively. 12% of the males work in the department A. 24% of the females work in
the department E. The ratio of males to females working in the department A is 13 : 33
respectively. 200 females work in the department C. 42% of the males work in the
department D. Number of females working in the department D is 10% of the males
working in the same. The remaining females work in the department B. The total
number of employees working in the department C is 570. 22% of the males work in
the department B and remaining work in the department E.

Us Wired & fafd=1 fawrT o9 % A, B, C, D 3R E H @al 4,800 &HAM &1 &¥d 2 |
HTed | goul @1 U Al & AR HEeE 5 0 3 1 12 9w gou faurt A § &
&¥d @ | 24 ufaerd dfeemrd f9rT E § &1 ddl 21 e A § &1 $RA 91, ol &
HJUTd Al @ WY HA: 18 - 33 €1 200 AT faurT C d &1 & 21 42 "fderd
qey faqrT D d &1 &Y 21 @9 D § @1 Y arell Afdersil B | S e Ao
BT H drel YUl bl H& HT 10 Uferd 2| 99 g2 g3 dierd fa9r B d &1 & 2 |
frT C 3§ ol S &1 91l dAAINGl @1 |l 570 2| f39rT B # 22 ufaerd qow &
N 8, TAT 99 fA9FT Ed B & 2 |

Sub questions

Question Number : 44 Question Id : 6589883662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the total number of females working in the department A and
department B together ?

fa9qTT A UG {9 BH 99T BT HY arel] AfSSi &1 Ser |y g ?
Options :

1024
:

1042
2.

1026
2

1060
4.

Question Number : 45 Question Id : 6589883663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The number of females working in department D is what percent of the total
number of females in the organization ?

fFT D § &/ $x- drell Hieciall @1 6@, §ed § Afecisl 1 §o 6= @
faeT Hfeera 2 ?

Options :

11%
1,

90,
2.

7%

Question Number : 46 Question Id : 6589883664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

The total number of employees working in the department E is approximately
what percent of the total number of employees in the organization ?
fGurT E § &1 &% arcl SHAAING] D Bl W&, Ged § B A del Fa
HHATRAl BT faa=m gfcerd & ?
Options :

12%

Sub-Section Number: 3
Sub-Section Id: 65898846
Question Shuffling Allowed : Yes

Question Id : 6589883665 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes

Question Numbers : (47 to 49)
Question Label . Comprehension
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Study the fnllmving graph careflﬂl}? and answer the questions that follow :
Number of people working in various departments of two different organisations :

f=Iferfiad aTF &1 €9 | SETE &Y, 3N UU T gardl 1 ofdrE §
&1 SCTT-3eAT Gel & A= faar § SRNG afdadl &1 |
Y

650 —
——B —E-A

600 — 600
550
500

a0 T
450 — 425
400 —
350 —
300 —
250 —

__
200+ PO/ 2 225

150 — o

100 — 350
50 s R
i | ! | ! ! X

HR Legal Marketing Accounts Exports Im

Departments (fd977)

Sub questions

Question Number : 47 Question Id : 6589883666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is the respective ratio of the number of people working in the IT
department of organization A and the number of people working in exports
department of organization B ?
G789 A & 3Mgo Tlo fA9TFT d &M &Y arel AR @1 9&T 3R Ted B & Haid
faqTT 5 B9 B el AFT ® G BT Faferd Agad =1 € 7
Options :

4:3
1.
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Question Number : 48 Question Id : 6589883667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of people working in legal department of organisation B is
approximately what percent of the total number of people working in
organisation A ?

8 B & HI-1 39T 3 $H1H B 9ral AR D U= Gied A 3 B1H ded are
Options :

) 29.19%

> 9.09%

Question Number : 49 Question Id : 6589883668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the total number of people working in organisation B ?
HTS BH @H &R 91t RN &1 &l W& &1 & 2

Options :

1925
5

Sub-Section Number: 4
Sub-Section Id: 65898847
Question Shuffling Allowed : Yes

Question Number : 50 Question Id : 6589883669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
A cube of 25 cm side is divided into 125 smaller cubes of equal volume. Find
the side of smaller cubes :
25 §HT Yoll drel Uh ©- DI A A= & 125 ©ic 94 § 9o fear o 2|
o1 =T W g 2R
Options :

2 cm

2 gHi

Acm

3 94

5cm

5 94

6cm

6 997
4.

Question Number : 51 Question Id : 6589883670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Reena is twice as old as Sunita. Three years ago, she was three times as old as
Sunita. How old is Reena now ?

ST GHIaT § SR 99 @ 21 A 99 Ugel 98 gArn |9 dF T 98 @ A1) 34
g ag g ?

Options :

O Vvears

1 6 d9

12 years
12 a9

14 years
14 71

16 years
16 a9

Question Number : 52 Question Id : 6589883671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a coded language COMPUTER is written as RETUPMOC. How is
MACHINE written in the same code ?

Ud dc 99 § COMPUTER & RETUPMOC & U # fa@r &iar g1 39 &g
MACHINE &I &4 for@r g ?

Options :

! DHFTCHS

HGTIRDM
2.

ENIHCAM
3

i HGRMSCH

Question Number : 53 Question Id : 6589883672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

What is value of blank position in the given series ?
fer 1 it & @refl W &1 A4 &80
1,6,15,(...), 45, 66, 91

Options :

26
1.

28

34

Question Number : 54 Question Id : 6589883673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which number should be replaced with x in the tollowing series ?
fhg 9@ @] 4= 2l § 1+ & WH W G A9F1 91fey ?
2.1l %8

Options :

[ ]
gcollegedumas
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5

13
2.

14
2.

15
4.

Question Number : 55 Question Id : 6589883674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

In a certain code, SIKKIM is written as THUJL, how is TRAINING written in
that code ?

®faud ®e H SIKKIM @ THUJL & &4 H for@r 9 8 39 @ # TRAINING
G| Y g SierFm g 7

Options :

{ SQBHOHOF

» UQBHOIOF

_ UQBHCHOI

, UQBHOHOF

Question Number : 56 Question Id : 6589883675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find out the next number in the series 97, 86, 73, 58,45, (............ ) :
Vil 97,86,73,58,45, (..o ) H 3Tl H&IT BT Tl oSy

Options :
54

1

] |
N
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Question Number : 57 Question Id : 6589883676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to new terminology, 'Aries’ means'air’, Taurus' means light’, 'Libra’
means 'water' and 'Scorpio’ means 'earth’. What would an organism breathe in ?

T Tl B AJUN 'Aries’ &1 Y ‘air' 2, Taurus' &1 3 'light', Libra' &7 37

Water T 'Scorpio’ &1 39 'earth' | U oild 99 § FIT o717 7

Options :

Aries
s

Taurus
)

Libra
=

’ SCErpiu

Question Number : 58 Question Id : 6589883677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Two towns P & Q are 275 km apart. A motorcycle rider starts from P towards
Q at 8 a.m. at the speed of 25 km/ hr. Another rider starts from Q towards P at
9 a. m. at the speed of 20 km/ hr. Find at what time they will cross each other ?

3l & P 3R Q 275 fHl §x €| Ush Hicy el HaR P 9 Q &1 3N 8 991 Ure:
25 fd/der &1 T § T ARE &l 8| Ud aV HJieY 9ifed aea Q ¥ P
® AR 9 qul U 20 B /=er B A W Fo AR wRal 2 | gar sy b g

R W Yh-gaY Bl IR BT 2

Options :
2. 45pm.

2 45 9 N2

1.

35 gu] IUNTE

1.15pm.
4. 115 g9 U8

-

el
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Question Number : 59 Question Id : 6589883678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is average (Arithmetic Mean ) of the numbers:2,4,5,0,9, 10 and 12?

Gt 2,4,5,0,9,10 Td 12 &7 3THd (GO J6g ) F 2 7

Options :

IT’

1

~J

0

Question Number : 60 Question Id : 6589883679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The radii of two cvlinders are in the ratio of 2 : 3 and their heights are in the
ratio ot 5 : 3. The ratio of their volumes is :

a1 qorl @ Feg 2 2 3 & SFwd | € T SAS SHargdl @ oW 50 3 8| 99 d
STATAAT Pl AT &

Options :

1 10:17

5 20:27

sec [II Quantitative Ability

Section Id : 65898838
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questions to be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No
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Sub-Section Number:
Sub-Section Id:

Question Shuffling Allowed :

1

65898848

Yes

Question Number : 61 Question Id : 6589883680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If A =-1, then what is the value of the function ?

Al x=-1 o == Haq &1 99 F7 8F17 7

Options :

.

f(x)=x> +4x+12

Question Number : 62 Question Id : 6589883681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A die is throvwmn 1000 times and the outcomes were recorded as tollows :
U e @l 1000 g Bt 1A Y gl FeEeiied 9er | Raere g v

It the die is thrown once more, then the probabilitv that it shows 51s
I

~

Outcome 1 2 3 - 5 0
s
Frequency | 150 | 150 | 160 | 170 | 150 | 190

i U UEH A 3 BT Y o1 SHE e B ag 5

Options :
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Question Number : 63 Question Id : 6589883682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Three-fourth of the number of girls in a school is equal to half of the number of
boys. If the school has 1420 pupils, how many of them are boys ?

Udh Whol H dTsiddl I & & dH-arls TShi bl & @ 3H & awex 8 | afe
ol H 1420913 &, o1 97 9 foba arsa & °

Options :
02

0

Question Number : 64 Question Id : 6589883683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which one of the tollowing is not a quadratic equation ?
F=iaiaa 4 9 &= v Gara S ey J8 € ¢

Options :

; (xt 2y =2(x + 3)

5 2 +3x=(-1) (1-3x)

Question Number : 65 Question Id : 6589883684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The sum of the digits of a two-digit number iz 9. If 27 is added to it, the digits of
the number get reversed. The numbers is

Gl 3E DI UdH FE d AR B AeT 9 B Afe guH 27 Sre, 91 §9 9 6 @
Options :
1 25
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Question Number : 66 Question Id : 6589883685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Sachin is younger than Rahul by 7 years. If the ratio of their ages is 7 : 9
respectively, find the age of Sachin :

e Ugd W 7 99 BIel ¢ Ife S MY BT U HA: 7 - 9 & o afd a
3T 1A DIFAY -

Options :
{ 23.5
245
2
125
G2
4 145

Question Number : 67 Question Id : 6589883686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question
Ifa:b=2:3andb:c=4:3, thenfinda:b:c

A a:b=2:30Gb:c=4:3 A a:b:c Td DIV

Options :
3:12:9
1.b'l”"
238
5 £1F S5
27329
3.
27ax%2
4.

Question Number : 68 Question Id : 6589883687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

The salaries of A, B and C are of ratio 2 - 3 : 5. If the increments of 15 % , 10 %
and 20 % are done to their respective salaries, then find the new ratio of their
salaries.

ABTWCH IAT2:3:5® U & 21 TG 15%, 10% I 20% &1 904 g
Options :

4 20:33:60

21 3360

Question Number : 69 Question Id : 6589883688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The value of 113—[121+:11x11}—{—41—{3—'&—2}] 15

113—[131+{11x11;—{—4}—{3—n-3}] H1 A &1

Options :

15
1.

>4
2.

(o
<]

109

Question Number : 70 Question Id : 6589883689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A number is increased by 10% and then it is decreased by 10%, then the net
decrease percentage is :

TS G H 10% $1 gig il 2 3R T I8 10% Hb¢ Wl €, 1 g "erd ufaed
g
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Options :

Question Number : 71 Question Id : 6589883690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

g | :
A student goes to school at the speed of 2; km/hr and reaches 6 minutes late.

If he travels at the speed of 3km/hr, he is 10 minutes early, then the distance
to school from his home is:

U@ BT 2 f@Hl/Hel @1 T 9 (e 9§ a1 6 fFe @ <8 | ggad €

3 fd/der @) Tl | Faar 2, 1 Wha 10 FBEe uge UgTdl €, O 99 W 9 W6
Bl E

Options :

Question Number : 72 Question Id : 6589883691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

collegedunia:

India’s largest Student Review Platform




Two trains of lengths 150 metre and 180 metre respectively, are running in
opposite directions on parallel tracks. If their speeds be 30 km/hr and
24 km/ hr respectively, then the time taken by them to cross each other is :

HHIE 150 Aiex Ud 180 HeX &1 oH=E arell al ¢4 9AF=R yeiRal ) fauda faen
§ °gdl V81 €1 afe 991 i HH: 30 fFA/Her 3R 24 fadi/Her 8, o U g
Bl IR & & faw I9a g1 o a1 999 2
Options :

22 Seconds

| 22 HHvs

24 Seconds

24 HHUS

28 Seconds
28 HHUS

30 Seconds

" 30 v

Question Number : 73 Question Id : 6589883692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When the rate of interest in a nationalized bank is increased from 5% to 6% per
annum, a person deposits Rs. 1000 more into his account. If the annual interest
now received by him is Rs. 110 more than that betore, then his original deposite
152

Ud UIIdd db @1 difie el & 5% 9 dgdy 6% 8- WX e Jfdd - 9rd 8
%o 1,000 e STHT FX ol 2 | Al 98 WAl = UEd 9 o 110 HfEH 9w g,
dl 4 d ST SHGT o €

Options :
Rs. 4,000
, o 4,000
Rs. 5,000

5 o 5,000

Rs. 6,000
5 ¥o 6,000

Rs. 7,000

, T© 7,000
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Question Number : 74 Question Id : 6589883693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of selections of six persons including cm.ly one teacher from 4
teachers and 7 students is:

4 FTIH] 9T 7 B § 9 6 Afad 994 ddd U Fea0s GiFford &, & 9dfad
g- B H&T 2§
Options :

75

-

1.

34
2.

oo
¥4

Question Number : 75 Question Id : 6589883694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Probability of being 53 Sundays in any leap-year is :
fbdl oy @ ¥ 53 YfaaR & $I Jidear g

Options :

2/7
1- !

Question Number : 76 Question Id : 6589883695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In 35 litre mixture, ratio of milk and water iz 4 : 1. If 7 litre more water is added
to the mixture, then the new ratio of milk and water will be :

35 dileY A0 H g9 3N U &1 Iurd 4 : 1 21 afe @ § 7 dex ae SR e
feam S, 1 g8 3R 9T T AT SO @
Options :

collegedunia:

India’s largest Student Review Platform




I
&S

(o8
o

2-3

Question Number : 77 Question Id : 6589883696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

] be divided =o that the

!

LEW ]

By what number of the following should '—

ha | Lo

-

e
quotient may be equal to ! = [ ?
\ 2/ J

LS

\ . - - -
| & fawfed &y =@nfey dife 9%

=feiRag 8 9 g 9@ 9 ]—

Iult.s-l

. =~
2| % R
\ 27 )
Options :
- 128

9633
1,163

-132
16352

116
12473

121
16326

Question Number : 78 Question Id : 6589883697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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A bag contains 3 red balls, 5 white balls and 7 black balls. What is the
probability that a ball drawn from the bag at random will be neither red nor
black ?

UR gd H 3 old s, 5 UHe g A% 7 Frell g g | 39S 9iiear g fib g
ol § Tgieo® w9 9 Fwred 70 vE 1w 9 @ ara 2l | 9 # a7

Options :
1

1 5

%) I

7

3 15

8

4 15

Question Number : 79 Question Id : 6589883698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The sum of all odd integers between 2 and 100 divisible by 3 is :
2 3R 1009 4/ @1 3 9 A9 9% fauq qul HEmsil &1 e € ¢

Options :
532

- —

642
713

367

Question Number : 80 Question Id : 6589883699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

U L

The value 0.163 in the form of & is -

q
L3 w04 0163 &1 eaa Hifm -
q

Options :
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o
1 | w

!§|-~4

16

_—

3 63

9
o
4. I

Question Number : 81 Question Id : 6589883700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

-

- ¥ - - L 5 ] a0y
If (x—a),isafactorof x°—ax” +x*—ax° +3x—a+2, thenvalueof 'a'is :

- 5 3 . _ & 3 A
g (x—a), 9894 X —ax® +xt—ax® +3x—a+2, F TUHEYS 8, Ol a®l 91 & :

Options :

1. 1

Question Number : 82 Question Id : 6589883701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

‘A’ sold a table to 'B’ at a profit of 15% later on 'B’ sold it back to 'A’ at a profit of
20% there by gaining Rs. 69. How much did 'A’ pay for the table originally ?

'A' T THA BT 15% & @ H 'B' BT 99l ¥ 916 H 'B' SUI gt BN T A’ B
20% @ WM | 99 <1 € 39 Y€ S 69 TU & AW Bl €, o1 'A' T 99 ¢gd

Options :
Rs. 280
g 280 9
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Rs. 330
330 44

Rs. 320
320 TUI

Rs. 300
300 &Ul

Question Number : 83 Question Id : 6589883702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
. 3 .
A man marks his goods at a price that would give him 20% protit. He sells —of
%

-

the goods at the marked price and sells the remaining at 20% discount. The gain
percent in the whaole transaction is:

U HTEH U WEF W A Jed b H €, 999 IHDI 20% BT AN BT 2 |
\ 3 . T \
98 U WA BT = HFT SHfEd JoI W 9901 @ AR AT g9 WHM B 20% B R

>
Options :
10%

Question Number : 84 Question Id : 6589883703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

There are 200 Prizes of Rs. 100 and Rs. 50 only. If the total amout spent on the
prizes is Rs. 12,000, the number of prizes of Rs. 100 is :

100 ¥9 99T 50 ¥4 & Hod 200 YWEPR € | Afe 39 AR W ®al 12,000 7
@4 fHy 7y € a1 100 0 & REHR] B GE 2

Options :

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



100

40

60

Question Number : 85 Question Id : 6589883704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

A 90 kg solution has 10% salt. How much water must be evaporated to have the
solution with 20% salt ?
90 fdo ATe HIA H 10% 9% HIige =1 fha 9= &1 9o &X G o &
HTd § 20% FHE 8 oY ?
Options :

43 kg
, 18 fho ATo

30 kg

, 30 fho M0

40 kg

. 40 fdbo TT0

45 kg
" 45 fho M0

Question Number : 86 Question Id : 6589883705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A boat goes 16 km upstream and 24 km downstream in 6 hours. It can go 12 km
upstream and 36 km down stream in the sametime.The speed of boat in the
still water is :
U 14, 91 & fqusid faen 4 1o f#H dan srquare & foen 4 24 &A1 531 6 ©¢ ¥
T4 Bl 2 | I B §FG | A9 Seyare (fquda fSen) S AR 12 5 9 sy
@1 feem | 36 f&f 0 77 WXl 8| A WA H A9 B AT B
gcollegeduniaa
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S km/hr
8 fpdl/geT

7 km/hr

WAL LIVA

6 km/hr
6 ThH1 /He]

7.6 km/hr
4 76 GIVA |

Question Number : 87 Question Id : 6589883706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a group of children, each child givesa gift to every other. If the number of
gifts is 132, then number of children is :

godl & U GYE H TP d= Udh guN Udd g=d Bl SUeR ([ve) <ar 21 afe
SUBNI & G&T 1328 o 9591 3] 9T ©

Options :
11

Question Number : 88 Question Id : 6589883707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

How many terms are thereinthe AP.7,13,19,............... 205 7?
GHY AU (AL P) 7, 13,19, ........ 205, 5 Ul @ G fhan g 7
Options :
33
1
9
5 32
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Question Number : 89 Question Id : 6589883708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of diagonals that can be drawn by joining the vertices of an
octagon 1s .
el areys @ 3N fa=g3il &1 e 9 991 A0l &1 g 2

Options :

28
1.

24

Question Number : 90 Question Id : 6589883709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In how many ways can the letters of the word PERMUTATIONS' be arranged if
vowels are together ?

e PERMUTATIONS' & 31eRi &I fhad TR 9 JaRed & Had & wdih @y
D eI Bl U A1 Y@ TAT € 7

Options :

i 4338400

20160
40320

2419200

Sec IV VA and Language English
Section Id : 65898839
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Section Number : 4

Section type : Online
Mandatory or Optional: Optional
Number of Questions: 30
Number of Questions to be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 65898849
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 6589883710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the word nearest in meaning to the underlined part :

She is very much sanguine about her business prospects.

Options :
worried
1

realistic
2.

callous

4 optimuistic

Question Number : 92 Question Id : 6589883711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the word nearest in meaning to the underlined part:
Your unruly behaviour disappoints your parents.

Options :
1 Jealous

5 Disorganised

o Amiable

4 Unpleasant
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Question Number : 93 Question Id : 6589883712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the word nearest in meaning to the underlined part:

Decrepit animals evoke pity in us.

Options :
{ strong

- uglj:

. weak

attractive

Question Number : 94 Question Id : 6589883713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Choose the word nearest in meaning to the underlined part :
An}' business company requirez daslm*Lg salesman.

Options :
: Attractive

Honest
3 Hard- working

oincere
4.

Question Number : 95 Question Id : 6589883714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the following sentence, select the word which is opposite in meaning

to the underlined word :
The disease can cause E-,teriligd' in men and women.

Options :
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Serenity

Fertﬂit}'

Casuality
A .

Sexuality

Question Number : 96 Question Id : 6589883715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the following sentence, select the word which is opposite in meaning
to the underlined word :

If food containing fat is rancid, it tastes unpleasant.

Options :
Sour
§ 38

Milky
2 : =

5 Oily

4 Fresh

Question Number : 97 Question Id : 6589883716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

In the following sentence, select the word which is opposite in meaning
to the underlined word :

This system perpetuated itzelf for several centuries.

Options :
y Contradicted

> Neglected

5 Supported

4 Discontinued
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Question Number : 98 Question Id : 6589883717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the following sentence, select the word which is opposite in meaning

to the underlined word -
The house remains intact even after 150 Years.

Options :

1 Damaged

> Pertect
5 Filthy

4 Clean

Question Number : 99 Question Id : 6589883718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.

The government has decidedto ................ a new scholarship this year.

Options :
found

C
5 onduct

establish
B

4 institute

Question Number : 100 Question Id : 6589883719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.
AnFIRhasbeen ................ against the two criminals.

Options :
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written

, lodged
2 set up

made

Question Number : 101 Question Id : 6589883720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.

The accountant and cashierof ourbank ... ... .. resigned.

Options :
\ have

has

3 h.ﬂd

4 will have

Question Number : 102 Question Id : 6589883721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Choose the best option to fill in the blank in the given sentence.

Baconandeggs ................ my usual breakfast.

Options :
are

were

4 had been
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Question Number : 103 Question Id : 6589883722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.
Iamconfident ............. . my victory.

Options :

i for

with
2

at

of

Question Number : 104 Question Id : 6589883723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.
She always hankers ................ power.

Options :

after
25

at
2

O11

4 behind

Question Number : 105 Question Id : 6589883724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the best option to fill in the blank in the given sentence.

She .. ... ... ... the examination in 2005.

Options :

, have passed
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5 had passed
5 paszed

4 passes

Question Number : 106 Question Id : 6589883725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify the part having an error.
He got (1)/ second prize (2)/ in the tournament (3)/ last week (4)

Options :
(1)

2
2 (%)

(3

4. (2)

Question Number : 107 Question Id : 6589883726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify the part having an error.

Dog is (1)/ a faithtul (2)/animal and(3)/a strong gatekeeper (4)

Options :
L (1)

7
2. (<)

(3)

(4)

Question Number : 108 Question Id : 6589883727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Identify the part having an error.

Either the youngman (1) /or his friends (2)/ has stolen the book(3)/
from the table (4)

Options :
L ()

2
> (£)

Question Number : 109 Question Id : 6589883728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identity the part having an error.
You, I and he (1)/ are (2)/good (3)/ singers (4)

Options :

1 (1)

- (2)

—
Y]
Sm—

Question Number : 110 Question Id : 6589883729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Identify the part having an error.

I (1)/ together with my parents (2)/are leaving (3)/ for Delhi tomorrow (4)

Options :
1 (1)

>
> (2)

3
<) ()
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Question Number : 111 Question Id : 6589883730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following words is not a noun ?
Options :
»
, d il

o gift

help

cult

Question Number : 112 Question Id : 6589883731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which of the following words is a verb ?

Options :

, Sea

5 talse

3 grace

4 cordial

Question Number : 113 Question Id : 6589883732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the most appropriate one to fill in the blank in the following sentence:

T g friend of mine.
Options :

) the best

d
5 goo

collegedunia:s

India’s largest Student Review Platform




= better

t
i bes

Question Number : 114 Question Id : 6589883733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the most appropriate one to fill in the blank in the following sentence:
________________ he was ill, he couldn't appear at the examination.

Options :
: After

5 However

Question Number : 115 Question Id : 6589883734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the most appropriate one to fill in the blank in the following sentence:

Tabtastudent. . .....covaue

Options :

1 anm'tl?

2 ?
5 am I 7

3 aren't]?

isn'tit ?

Question Number : 116 Question Id : 6589883735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Choose the option that catches the spirit of the idiom given :
Put off

Options :

1 formulate

catch
save

4 pDEtpDIlE

Question Number : 117 Question Id : 6589883736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the option that catches the spirit of the idiom given :
Get through :

Options :

, to kill somebody

5 to be successtul in an exam

3 to deztm}* s-,ﬂmethjng

4 to meditate

Question Number : 118 Question Id : 6589883737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Choose the option that catches the spirit of the idiom given :
The demon drink :

Options :

1 alcoholic drink

> cold drink

. soft drink
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4 hot drink

Question Number : 119 Question Id : 6589883738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Choose the option which best expresses the given sentence into indirect

speech :

I said to you,” She will give you my pen tomorrow."”

Options :

1

2

I told you that she would give me your pen next day.

I told to you that she would give you my pen next day.

- I told yvou that she would give you my pen next day_

4 I told to you that she would give me your pen the fullnwing day.

Question Number : 120 Question Id : 6589883739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the option that best expresses the given sentence into the passive voice :

Do your work hmwztl}',

Options :
1 Let vour work be done honestly.

» Let your work done honestly

3

4 You are requested to work honestly.

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

You are honestly requested to work.

Sec IV VA and Language Hindi

65898840
n]

Online
Optional
30

30

90

Yes
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Group All Questions: No

Sub-Section Number: |
Sub-Section Id: 65898850
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6589883740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :
1 A ~‘ hy
" O
2 , oy
1-'".' 5
3 W1 G \? £ 4

Question Number : 122 Question Id : 6589883741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

-

S9H 9 Hel da- F 8 7
Options :

cliax4l|4ah
il

Question Number : 123 Question Id : 6589883742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Options :

1_'\3TT1:I
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4 9370

Question Number : 124 Question Id : 6589883743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

hfd BT SifeiT < 2 ;

Options :

Question Number : 125 Question Id : 6589883744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

g4 W ST &1 UAIGTEa] a1 8 7
Options :
1. E_Eh-r-“r”"\

4 ATITS

= o

=

4,m

Question Number : 126 Question Id : 6589883745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

collegedunia:s

India’s largest Student Review Platform




Question Number : 127 Question Id : 6589883746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

JUAT BT M B
Options :

i STUE

Question Number : 128 Question Id : 6589883747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

%
¥

Al BIA & Agdh T2l 8, TH T el
Options :

i JdY

Question Number : 129 Question Id : 6589883748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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